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Competéncia comunicativa: compreensao oral: seguir instrucdes detalhadas dadas pelo
professor; identificar o contetdo principal do que se ouve e vé, os intervenientes e a
sequéncia do discurso assim como informagoes especificas; interacdo/ producao oral:
APRENDIZAGENS interagir de forma simples ou progressivamente mais elaborada, respondendo a perguntas e
ESSENCIAIS expressando opiniao;

Compreensao escrita: identificar informacao; ler e compreender textos;

Interacao escrita: interagir de forma simples ou progressivamente mais elaborada,
respondendo a perguntas, completando frases e redigindo topicos.

Titulo/Tema(s) do Bloco

Overpopulation

A. Choose the right option.
1. The number of diseases decreases if:
a) birth rates get higher.
b) the world population continues to grow.
¢) drinking water is safe and sanitation is guaranteed.
2. One of the reasons for overpopulation is:
a) high death rates.
b) low death rates.
c) equal birth and death rates.

B. Complete the sentences with the information from the box.

« primary diseases
e vaccines
» the lack of educational resources

« death rates

1. Illnesses are cured by

Birth rates are higher than

Lack of clean water and sanitation is related to

> W N

Population has boomed in impoverished countries due to
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Conditionals 0, 1, 2 and 3
A. Circle the correct sentence.

1. ‘Wood doesn’t burn if there is no air.’ In the sentence we are talking about:
a) an unlikely situation.

b) a possible situation in the future.

c) a situation in the past that could have happened.

d) a general truth.

2. ‘If he hadn’t fallen asleep while driving, he wouldn’t have crashed his car.’ In the
sentence we are talking about:

a) an unlikely situation.
b) a possible situation in the future.
c) a situation in the past that could have happened.

d) a general truth.

3. ‘If you don’t invite them, they won’t come to the party.’ In the sentence we are
talking about:

a) an unlikely situation.
b) a possible situation in the future.
) a situation in the past that could have happened.

d) a general truth.

4. ‘If | were in Ricky’s shoes, | wouldn’t call her.’ In the sentence we are talking
about:

a) an unlikely situation.
b) a possible situation in the future.
) a situation in the past that could have happened.

d) a general truth.

B. CONDITIONALS TYPE 0, 1, 2 and 3. Complete the sentences with the right verb tense.

1. If the wind doesn’t stop, we (not/be) to walk by the sea.
2. She (not leave) if you had said you were sorry.

3. If you boil water, it (evaporate).

4, | (help) the homeless if | were you.
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